Math 1550-22, Test # 1. Fall 2008 Name:

No calculator, no notes, no book.
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1[15P]) Let f(z) = = jl .

a) What is the domain of the function f(z)? The domain is: > == ‘

b) Find the average rate of change over the interval [2, 3]. The AROC is :
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c) What is the instantaneous rate of change at ¢ =27 — }
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2[20P)]) Evaluate the following limits. Show your work, justify your answer!:
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3[5P]) For which number(s) c is the function f(z) z{ B¢ ifa>2 continuous ?
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4[10P]) Let f(z) = :i/m+2
z+3
a) Evaluate Il_igl_ flz)= 2
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b) Is f(z) continuous at the point z = 27
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5[10P]) Use the definition of the derivative to find the derivative of the function f(z) = vz +2.
Show your work!
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6[10P]) Consider the functions f(z) and g(x), for which £(0) = 3, g(0) = 2, f/(0) =1, and ¢'(0) = 2.
Let b(z) = Z8. Find (0) = — ' .
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7[20P]) Find the following derivatives:

a) flz) =2 +z+372 fl(z) = G X 4_\_.,2 %4 3

o e P Cule C%(X\E‘z lfe_yk~‘

b) f(t) =te', f'(t)leo = '
[
Unre U Eodued  vule ond R =1
fw| = (e*a {Qﬂ\t:o: |

—

-9

9o = (22) (255) sta= 2z — )
S Lumpph fp
K:;-\\ ) (22— \) _ @+ ) (-2 (=)
B e Cx~1)(2+2)
Z ‘Q\{Z-H} — 22\ 2~Q

Il

—
—



4

224+ 3z 427!
z

e | =253

d) f(z) =

Stmgh {9 Qbﬂ: X+ 3+ xR g Ao ae A
PDowey vule

8[10P]) The hight s(¢) of an object tossed vertically in the air is given by s(t) = so + vot — 3g¢?,
g = 32 ft/sec?.

a) Explain the meaning of sq, vy, and g.
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b) If so = 2ft, vo = 320ft/sec. What is the maximum hight and when does it reach that hight?
Maximum hight: and the time
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1[15P]) Let f(z) = =2 11.

a) What is the domain of the function f(z)? The domain is:

b) Find the average rate of change over the interval [2, 3]. The AROC is :

¢) What is the instantaneous rate of change at z = 27
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2[20P]) Evaluate the following limits. Show your work, justify your answer!:
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3[5P]) For which number(s) c is the function f(z) = {f/;:_c_g
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b) Is f(z) continuous at the point z = 27
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5[{10P]) Use the definition of the derivative to find the derivative of the function f(z) = vz +2.
Show your work!

fllz) =

6[10P]) Consider the functions f(z) and g(z), for which f(0) =3, g(0) =2, f/(0) =1, and ¢’(0) = 2.
Let h(z) = £&. Find K(0) = .

7[20P]) Find the following derivatives:
a) flz) =22 +z+27%, fl(z)=

b) f(2) = te", f'(D)mo =
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d) f(o) = T2 piay =

8[10P]) The hight s(t) of an object tossed vertically in the air is given by s(t) = sg + vot — 3912,
g = 32 ft/sec?.

a) Explain the meaning of s, vg, and g.

b) If s = 2ft, vp = 320ft/sec. What is the maximum hight and when does it reach that hight?
Maximum hight: and the time




